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25°C. Be sure to show your work
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b) m-mmﬁmmmmmdumwm AS®, for the reaction at
255 Justify your answer.

ic) Gnﬂﬁhlilﬂf}mmwm{ﬂ ﬂﬁj-#ﬂﬁmm#ﬂmﬂmm AG;
fior the reaction at 25°C. Explain your reasoning.

(d) Use uﬁmmlﬂnnmﬂnuhkbuhwmmmdnnm-lwmnfumemnduphmmym

pbtamed your answer.
Experiment | Initial (O] | Initial (NO] | Formation of NO,
3 Number (mol L) (mal L) (mel L 5
1 0.0010 0.0010 P
2 GEIJIU' 0.0020 ix
3 0.0020 0.0010 Iz
4 0.0020_ 0.0020 ax

{:}mmmmummﬂmmmﬁmmmmm”nmm
in order for this mechanism to be consistent ﬁunﬂ-hnnpunundu:iﬂdmpnﬂﬂﬁmhn.

Stepl: Oy +NO =+ O+NG,
Sepl: 0+0, =10,
Sepll: NO;+NO - INO,
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